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ZEtix = (CO,) ke-CO, & 13,940,473 15,437,262
A%> (CHq) kg-CO, A& 32,777 40,275
—EI1EZ%F 3% (N,0) kg-CO, A& 319,980 327,521
202 %8(HFC) ke-CO, & 2,516 2,399
BENRARDEE kg-CO, #a & 14,295,745 15,807,457
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&5t (ke—-CO,) &t (kg—-CO,)
mREHE
1 1,001,035 963,627
(BEEER. £ FAKESRO
2 2B 883,187 864,777
3 B 11,603,276 13,231,820
4 L TKEER 808,246 747,232
At = (ke-CO,) 14,295,745 15,807,457
it = (t-C0Oy) 14,296 15,807
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t-CO, 7,307 7,658 8,499 7,426 7,919 8,555
PSR R +351 +1,192 +119 +612 +1,248
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ERI0FEE:7, 505t-CO,. FSFITHEE:8, 053t-CO,. SFI2FE 7, 393t-C0O,. £F13
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OFDEXEEFHEARITHESIBEEDNRNRFE=: 15, 807 t-CO,
Q—MREEYDHNMEDEETVNRESIRFEE 7, 252 t-CO,
DO—-2= 8, 555 t-CO,
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